Priklad 2.6

with(plots) :
with (Student) :
with (Student| Calculusli]) :
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plot(f,x=0..5, thickness=2);
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DerivativePlot(f, x =0.9 ..5, thickness =2);

The Derivativeof
f(x) = In(2*x"3+4*x"2-x)/(x+1)
on the Interval[.9, 5]
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plot([f,f1,/2],x=0.9..5, thickness =2, color = [red, blue, green |, legend
= ["Funkce f","1. derivace","2. derivace"]);

Funkce f

1. derivace

2. derivace



fl1]:=eval(f,x=1);

fI[1]=eval(fl,x=1);

1] =eval(f2,x=1);

evalf(f[1]);
evalf(fI[11]);
evalf(f2[11]);

showtangent (f,x=1,x=0.5..
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5, color = [ cyan, red], thickness=2);
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